## Spring Awakening

Ge	General Information								
Show Name:	Spring Awakeni	ng							
Theatre Name:	McLeod Theater	r							
Estimate by:	Andrew J. Arma	S							
Material Budget:	\$ 2,100.00								
Contingency:	10%	\$	210.00						
Shop Time:									
Time Contingency:	1.529 added to each unit								

Show Bu	Show Budget Breakdown									
Show Budget		\$	3,000.00							
		\$	-							
Props	10%	\$	300.00							
Hardware	10%	\$	300.00							
Paint	10%	\$	300.00							
	Subtotal	\$	900.00							
N	Material Budget	\$	2,100.00							

## **Shop Time Available**

			Wks of	
Date	Workers	Hrs	Build	Total
Monday				0
Tuesday				0
Wednesday	0	0	0	0
Thursday				0
Friday				0
		To	otal:	0

Items not bid:								
Tree								

Page	Unit	Cost Estimate	Time Estimate
1	Raked Deck	\$470.80	0
2	Upper Wall	\$383.19	0
3	Wall Units	\$140.55	0
4	Doors	\$206.65	0
5	Chalkboard	\$0.00	
6	Band Deck	\$193.60	0
7	Moulding	\$421.03	0
8	Custom Platforms	\$151.93	0
9	Ladder	\$26.40	0
10	10	\$0.00	0
11	11	\$0.00	0
12	12	\$0.00	0
13	13	\$0.00	0
14	14	\$0.00	0
15	15	\$0.00	0
16	16	\$0.00	0
17	17	\$0.00	0
18	18	\$0.00	3
19	19	\$0.00	0
20	20	\$0.00	0
	Tota		3
	Budgeted Amoun	t: \$2,100.00	
	Surplus (Deficit	): \$105.85	3

Theatre:	McLeod The	eater		Production:	Spring Awa	kening			
Date:	7-May-17			By:	An	drew J. A	rmas	3	
Unit:	Raked De	ck							
Notes:				Page:	1				
	,	Time Estimate	Explanation:	Jump			mp T	To:	
Wood		Steel		Paint	Hrs.	1	Main		
Cutting		Clean		Prime			ce Sh		
Jig		Cutting		Base		Build			
Layout		Drill		Texture		Bill o	f Mat	terials	
Assemble		Jig		Layer 1		Sumr	nary	Sheet	
Cover		Weld		Layer 2					
Molding		Grind		Layer 3					
Rig		Rig		Layer 4		* 1.529			
Install				Detail					
				Sealing					
		1			*	Current:	\$	470.80	
Call Name	Materials			Unit	<b>Unit Price</b>	Quantity	Cost	t	
Stock Stl 4x8 Fra	FRAME ON	LY		Ea		9.00			
Masonite_1/4"	1/4" Temper	ed Masonite; 4'	x 8'	Sht.	\$16.00	13.00		208.00	
Stl_ PipeBLK_1	1 1/2" Sched	40 Black Pipe		21'	\$55.00	4.00		220.00	
Stock Stl Dk 2x8	2'x8' Steelde	ck Platform		Ea.		2.00			
Stock Stl Dk 4x4	4'x4' Steelded	ck Platform		Ea.		2.00			
						Sub-Total:	\$	428.00	
					Co	ntingency:		42.80	
						Total:	\$	470.80	

Theatre:	Production:							
Date:	7-May-17			By:	And	lrew J. Ar	mas	
Unit:	Upper Wa	ıll						
Notes:				Page:	2			
Time Estimate Explanation:			Explanation:			Jun	np To:	:
Wood	Hrs.	Steel	Hrs.	Paint	Hrs.	N	<u>Iain</u>	
Cutting		Clean		Prime		Pric	e Shee	<u>t</u>
Jig		Cutting		Base		Build	Sched	<u>ule</u>
Layout		Drill		Texture		Bill of	Mater	<u>ials</u>
Assemble		Jig		Layer 1		Summ	ary Sh	eet
Cover		Weld		Layer 2				
Molding		Grind		Layer 3				
Rig		Rig		Layer 4		* 1.529		
Install				Detail				
				Sealing				
	1	1			1	Current:	\$ 3	83.19
Call Name	Materials			Unit	<b>Unit Price</b>	Quantity	Cost	
Lauan_1/4"	1/4" Lauan; 4	1' x 8'		Sht.	\$12.97	5.00		64.85
Stl_STS 1 16g	1" SQ Tube,	16 Gauge		20'	\$13.50	17.00	2	229.50
Pine 1x4x16	1x4x16', #2 I	Pine		16'	\$4.00	5.00		20.00
Stl_FB_1/4"x3"	Flat Bar 3"x1	1/4" thk.		20'	\$34.00	1.00		34.00
						Sub-Total:		48.35
					Co	ntingency:		34.84
						Total:	\$ 3	83.19

Theatre:	McLeod The		Production:	Spring Awa	akening				
Date:	7-May-17			By:	An	drew J. A	rmas	5	
Unit:	Wall Unit	S							
Notes:				Page:	3				
	,	Time Estimate	Explanation:			Ju	Jump To:		
Wood	Hrs.	Steel	Hrs.	Paint	Hrs.		 Main	l	
Cutting		Clean		Prime			ce Sh		
Jig		Cutting		Base				edule	
Layout		Drill		Texture				terials	
Assemble		Jig		Layer 1				Sheet	
Cover		Weld		Layer 2		'-			
Molding		Grind		Layer 3					
Rig		Rig		Layer 4		* 1.529			
Install				Detail					
				Sealing					
						Current:	\$	140.55	
Call Name	Materials			Unit	<b>Unit Price</b>	Quantity	Cost	t	
Stock Hly Flt 4x	14' x 10' Holly	wood Flat		Ea.		11.00			
Lauan_1/4"	1/4" Lauan; 4	1' x 8'		Sht.	\$12.97	6.00		77.82	
Pine 1x6x16	1x6x16', #2 I	Pine		16'	\$9.99	5.00		49.95	
						Sub-Total:		127.77	
					Co	ntingency:		12.78	
						Total:	\$	140.55	

Theatre:	Production:	Spring Awa	akening					
Date:	7-May-17			By:	An	drew J. Ar	ma	s
Unit:	Doors							
Notes:				Page:	4			
	Explanation:	-		Jur	np '	Го:		
Wood	Hrs.	Steel	Hrs.	Paint	Hrs.	N	<b>A</b> air	1
Cutting		Clean		Prime		Pric	e Sl	neet
Jig		Cutting		Base		Build	Sch	<u>edule</u>
Layout		Drill		Texture		Bill of	Ma	terials
Assemble		Jig		Layer 1		Summ	ary	Sheet
Cover		Weld		Layer 2				
Molding		Grind		Layer 3				
Rig		Rig		Layer 4		* 1.529		
Install				Detail				
				Sealing				
						Current:	\$	206.65
Call Name	Materials			Unit	<b>Unit Price</b>	Quantity	Co	st
Pine 2x4x16	2x4x16', Pin	ie		16'	\$6.83	5.00		34.15
Lauan_1/4"	1/4" Lauan;	4' x 8'		Sht.	\$12.97	8.00		103.76
Pine 1x6x16	1x6x16', #2 l	Pine		16'	\$9.99	5.00		49.95
						Sub-Total:	\$	187.86
					Co	ntingency:		18.79
						Total:	\$	206.65

	McLeod The	Production: Spring Awakening					
Date:	7-May-17			By:		drew J. Ar	mas
Unit:	Chalkboar	rd					
Notes:				Page:	5		
		Гіте Estimate I	Explanation:			Jun	np To:
Wood	Hrs.	Steel	Hrs.	Paint	Hrs.	N	<u>Iain</u>
Cutting		Clean		Prime			e Sheet
Jig		Cutting		Base		Build	Schedule
Layout		Drill		Texture		Bill of	Materials
Assemble		Jig		Layer 1		Summ	ary Sheet
Cover		Weld		Layer 2			
Molding		Grind		Layer 3			
Rig		Rig		Layer 4		* 1.529	
Install				Detail			
				Sealing			
						Current:	\$
Call Name	Materials			Unit	<b>Unit Price</b>	Quantity	Cost
Stock BrWy Flt	44' x 12' Broad	dway Flat		Ea.		2	
Call Name Stock BrWy Flt		dway Flat			Unit Price	Quantity	

Theatre:	McLeod The	Production: Spring Awakening						
Date:	7-May-17			By:		lrew J. Ar	mas	
Unit:	<b>Band Decl</b>	K						
Notes:				Page:	6			
	-II	Time Estimate E	xplanation:	9		Jun	ıp T	o:
Vood	Hrs.	Steel	Hrs.	Paint	Hrs.	N	<b>1</b> ain	
Cutting		Clean		Prime		Price		eet
ig		Cutting		Base		Build	Sche	edule
ayout		Drill		Texture		Bill of		
Assemble		Jig		Layer 1		Summa	ary :	Sheet
Cover		Weld		Layer 2				
Molding		Grind		Layer 3				
Rig		Rig		Layer 4		* 1.529		
nstall				Detail				
				Sealing				
	-1					C	\$	193.60
						Current:	Φ	
Call Name Masonite_1/4"	Materials 1/4" Tempere	ed Masonite; 4' x 8	3'	Unit U	Unit Price \$16.00	Current: Quantity 11.00	Co	
Call Name Masonite_1/4"	Materials 1/4" Tempere	ed Masonite; 4' x 8	3'		J <b>nit Price</b>	Quantity	Co	st
Call Name Masonite_1/4"	Materials 1/4" Tempere	ed Masonite; 4' x 8			\$16.00	Quantity	\$	st

Theatre	Theatre: McLeod Theater					akening		
Date	: 7-May-17			By:	An	drew J. A	rma	ıs
Unit.	Moulding							
Notes	:			Page:	7			
	Ti	me Estimate Ex	xplanation:	7,611		Jump To:		
Wood	Hrs.	Steel	Hrs.	Paint	Hrs.	N	<b>A</b> air	1
Cutting		Clean		Prime		Pric	e Sl	neet
Jig		Cutting		Base		Build	Sch	edule
Layout		Drill		Texture		Bill of	Ma	terials
Assemble		Jig		Layer 1		Summ	ary	Sheet
Cover		Weld		Layer 2				
Molding		Grind		Layer 3				
Rig		Rig		Layer 4		* 1.529		
Install				Detail				
				Sealing				
						Current:	\$	421.03
Call Name	Materials			Unit	<b>Unit Price</b>	Quantity	Co	st
Pine 1x6x16	1x6x16', #2 l	Pine		16'	\$9.99	4.00		39.96
FoamPink	1" Pink Foan	n; 4' x 8'		Sht.	\$19.97	7.00		139.79
FoamPink	2" Pink Foan	n; 4' x 8'		Sht.	\$22.00	6.00		132.00
Backer Rod 2"	2" Backer Ro	od Box 42pcs		Ea.	\$71.00	1.00		71.00
						Sub-Total:	\$	382.75
					Co	ntingency:	\$	38.28
						Total:		421.03

Theatre:	McLeod Theater			Production: Spring Awakening				
Date:	7-May-17			By:	Andrew J. Armas			
Unit:	<b>Custom Platforms</b>							
Notes:				Page:	8			
	T	ime Estimate E		Jump To:		np To:		
Wood	Hrs.	Steel	Hrs.	Paint	Hrs.	Main		
Cutting		Clean		Prime		Price	e Sheet	
Jig		Cutting		Base		Build Schedule		
Layout		Drill		Texture		Bill of	Materials	
Assemble		Jig		Layer 1		Summary Sheet		
Cover		Weld		Layer 2				
Molding		Grind		Layer 3				
Rig		Rig		Layer 4		* 1.529		
Install				Detail				
				Sealing				
						Current:	\$ 151.93	
Call Name	Materials			Unit	Unit Price	Quantity	Cost	
Pine 2x4x16	2x4x16', Pin	e		16'	\$6.83	8.00	54.64	
OSB 3/4"	Oriented Stra	and Board, 3/4"	T&G	Sht.	\$12.87	4.00	51.48	
Masonite_1/4"	1/4" Tempere	ed Masonite; 4'	x 8'	Sht.	\$16.00	2.00	32.00	
						Sub-Total:		
Co						ntingency:		
						Total:	\$ 151.93	

Theatre	Production: Spring Awakening						
Date	: 7-May-17			By:			
Unit:	Ladder						
Notes:							
				Page:	9		
		l .	Jum	р То:			
Wood	Hrs.	Steel	Hrs.	Paint	Hrs.	M	ain_
Cutting		Clean		Prime			Sheet
Jig		Cutting		Base		Build Schedule	
Layout		Drill		Texture		Bill of Materials	
Assemble		Jig		Layer 1		Summary Sheet	
Cover		Weld		Layer 2			
Molding		Grind		Layer 3			
Rig		Rig		Layer 4		* 1.529	
Install				Detail			
				Sealing			
						Current:	\$ 26.40
Call Name	Materials			Unit	Unit Price	Quantity	Cost
Stl_STS 1.5 16g	1 1/2"x1 1/2	" SQ Tube, 16 Gau	ge	Stk.	\$24.00	1.00	24.00
Sub-Total:							
					Co	ntingency: Total:	
						rotal:	⊅ ∠0.4U